	Prozentwert (W)
	Grundwert (G)
	Prozentsatz (p%)
	Vermehrter Grundwert
	Verminderter Grundwert

	31% von 400 €
	31 % sind 124 € von …
	124 € von 400 € sind …
	900 € werden um 10% erhöht
	900 € werden um 10% gekürzt

	Geg.:  G = 400 €

          W% = 31% = 0,31

Ges.:  W
	Geg.:  W = 124 €

        p% = 31% = 0,31

Ges.: G
	Geg.:  G = 400 €

          W = 124 €

Ges.: p%
	Geg.:   G = 900 €

         p% = 10 %

Ges.: Neuer Grundwert

      p%neu    100 % + 10%
	Geg.:  G = 900 €

        p% =  10 %

Ges.: Neuer Grundwert

      p%neu  100 % - 10 %

	W= G • p%

W = 400 • 0,31

W = 124 €
	G = W : p%

G = 124 : 0,31

G = 400 €
	p% = W : G • 100

p% = 124 : 400 • 100

p% = 31 %
	GNeu = 

900 € • 1,10 = 990 €
	GNeu = 
900 € • 0,90 = 810 €

	100% = 400 €

    1% =     4 €

  31 % = 124 €
	  31% = 124 €

    1% =      4€

100% =  400 €
	100% = 400 €

    1% = 4 €

          = 124 €

124€ : 4 € = 31%

400 € = 100 %

    1  € = 0,25 %

 124 € = 31 %
	100% = 900 €

   1 % = 9 €

 10 % = 90 €

900 € + 90 € = 990 €

oder

100% = 900 €

    1% =      9 €

110 % = 990 €
	100% = 900 €

    1 % = 9 €

  10 % = 90 €

900 € - 90 € = 810 €

oder

100% = 900 €

   1 % =      9 €

90 % =  810 €


Formeln zur Prozentrechnung
